
連立方程式の計算 ６Ａ 

◆次の連立方程式を解きなさい。 

①
x y

x y

= +

+ =





2 1

3 11
 

 

 

 

 

 

 

 

 

 

 

 

 

②
2 5

2 1

x y

y x

+ =

= +





 

③
x y

x y

= −

− = −





2

3 5 10
 

 

 

 

 

 

④
y x

x y

=

− =





2

3 2 20
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



連立方程式の計算 ６Ｂ 

◆次の連立方程式を解きなさい。 

①




=+

+=

72

1

yx

xy
 

 

 

 

 

 

 

 

 

 

 

 

 

②




−=

=+

4

1325

xy

yx
 

③




−=

=−

13

32

yx

yx
 

 

 

 

 

 

④




+−=

−=−

32

143

xy

xy
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



連立方程式の計算 ６Ｃ 

◆次の連立方程式を解きなさい。 

①




=+

+=

112

13

yx

xy
 

 

 

 

 

 

 

 

 

 

 

 

 

②




−=

=+

5

523

xy

yx
 

③




+=

=−

52

323

yx

yx
 

 

 

 

 

 

④




−=

=+

52

8052

yx

yx
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



解答 

 

連立方程式の計算６Ａ 

①x＝5、y＝2  ②x＝1、y＝3  ③x＝0、y＝2  ④x＝－20、y＝－40 

 

連立方程式の計算６Ｂ 

①x＝2、y＝3  ②x＝3、y＝－1  ③x＝11、y＝4  ④x＝1、y＝1 

 

連立方程式の計算６Ｃ 

①




=

=

7

2

y

x
 ②





−=

=

2

3

y

x
 ③





−=

−=

3

1

y

x
 ④





=

=

10

15

y

x
 

 

 

 


